B TE SHROHLENSERZE

E BH
HEBFRZ5EAZER
MBfS: xiaom37@mail.sysu.edu.cn

- 1


mailto:xiaom37@mail.sysu.edu.cn

MEEB

¥ % S BRI ALY 4B B AR A A 6 AR A
MR S, R 3 A R Rk B AR A

e, ) AR AT o7 o K RSB AR A B 2 R A BR %, ELAT 49 S AL By
e A R R AL T A v T 8 89 R ik X B B4 R B 3+ IE, B B o
BB A 2 T A 4 SRR K



NEE

(1) BRRL

(2 BOHRIBALE
(3) WAE—REtES A
(4) FhAIBERS A
(5) ExmoraErERIetE




- PRiEE
AEER
HR—M BRI B IERY) BRI EUERR

H—BIERA
oy
| =0y

LY(X0) = Yo

AERE

£

BRI (X, y)IELE HR Tyl R R AKX (Lipschitz) 2k44:
OG- FOGY)| S Ly-y),
R H RSy R BB 1

E R BR(L) iRty = y(X)FREEFH

- H E—




[l PEES R
FrESEART:, MR TR My (x)7E— RSB B A

a=X, <X <X, <--<X <X,=Db

LE{JZ}E{M/E Yor Yir Yo oo Yai Y
AP TARIEIE =x  — X FRAP K.
WA, BEBEh =h(i=012-- ) NEE,

X, =X, +Nnh,Nn=012---.



B | s ER AR SR
F I FTARRBAL IR 5,8 BRI AR B R,

— &R R VAT JUFRE 77 i
1) R £ &5

dy
dx

—p &

Fl/

yn+1

_ y(Xn+1)_ y(Xn) — f (Xn’ y(Xn))
Xns1 — Xp

n

(X”’ynJ
yn+1 ~ y(xn+1) ] yn ~ y(Xn)

yn+1 T yn ~ ﬂ
h dx

o yn ~ ht (Xn’ yn)




[ sEcosEmisn RS
(2) JA HAEAR - VA AR o

jd—ydx= jf(x,y)dx (n=0,1,-)
v dx v
By () = Y(%) = [ F (X, y(x)dx
H—: &

Yo ® Y(Xni1) s Yo = Y(X,)
Yoo = Yo = [ 7 F(X, y(x))dx = h(x,, Y,)

el
| — |

[ =
SK

bR 2R E 7



B ESTHEREA RS
(3) HTaylor % M XA FF T A& 4% £

Y(Xpe1) = Y%, )= V() hy' (%) + -y (€)

~ Y0+ R (X)) + ey (%,)
-_‘5 é\ yn+1 ~ y(xn+l) ! yn ~ y(Xn)

yn+1 — yn + hf (Xn1 yn)

F-l:

h2
‘ y(Xn+1) yn+1‘ = maX‘ y. ' (X)‘

asx<b



&

N
!

2
\

X



| BRI AR

= AN WI4E fa] B B — R a8
rdy B
lax = TOey) a<x<b (1)
gy(xo)= Yo
JERITUSE
Yorr1 — Yn ~ d_y
N . h dx
AL /T
= hf ,
{ yn+1 yn + (Xn yn) (n _ 0’1’2’3’".)
Yo = y(Xo)

—Euler’5iZRNEN AT

10



| EREDS AR
SEIXE, E#FMNMMXELEER Euler 23, EBiBHE

x,=4a X, X, see e X, X, X, b =X,
y 4 f(x)/’/___ﬁ
/

v

11



| EREDS AR
y(x) =y, +(x, —x,) f(x,53,) =y,
y(xz) ~ )+ (xz - xl)f(xnyl) = Y-

y(x)=y,  +(x,—x, ) f(x, ,y,)=y,

Vira =V Y (X —x) (X5 0,)
k=0,1,2,0n—1

12



- MIEEpREA o L
B0 SRR 1 BB Kh = 0.1)

y'=y—2—X (0O< x<1)
< y
y(0)=1
#® ) (X, y)=y—-2x/y
FIAE B ARG LR A XA
{ Your = Yo +hf (X, y,) =y, +h(y, —=2x,/y,)
y(0)=1

f yn+1 = yn + hKl
,ﬁ_zg}:m/§ﬁ< Kl = f(Xn’ yn)
Y(0)=1 13




- ISR ok

%Il

i 4 AR R K
0 1. y[0] -> 1
01 1.1 y[0.1] -> 1.09545
02  1.19182 v[0.2] -> 1.18322
0.3  1.27744 y[0.3] -> 1.26491
0.4 135821 v[0.4] -> 1.34164
0.5  1.43513 y[0.5] -> 1.41421
0.6 1.50897 y[0.6] -> 1.48324
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clc
clear all
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y=zeros(size(x)); %flify /// ;zﬂZ{E%’tf:
h=0.1; %l Kh=0.1 A
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y(1)=1; AL GEE /
for i=2:len %My iR i i
K=y(1i-1)-2*x(i-1)/y(i-1); i
y(i)=y(i-1)+h*K L
end 15 ’,’(/ s
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figure ' Lz
hold on //
grid on 13} /
plot(x , y ,'r") %L (a2 N EUE AR s
plot(x , sgrt(2*x+1) ,'g") %Lkt NG iR i
xlabel('x") v2r //
ylabel('y") S
title('Euler’) 11} //
10 Oll 012 0‘3 0.14 OTS 016 017 OIB 019 .:.

15



| msiEaosmpIE 2Rt

R KR

EEEEEEEEEEE

1] s |

h=0.03 -

B Ko L Bk KM oy L% em B K

16



- MIEEpREA o L
B2 sRARWIME 9 FECE Kh = 0.1)

=—— (O< x<1)
3 3y

yo=1
X
E‘> f (X’ y) o 3 y2
MBS A : { Yor: = Yo + DF (X4, V1)
y(0)=1
r yn+1 = yn + hKl

EEM R H: <K, = f(X,,Y,)
y(0)=1

17



[l ExiriAaosRBIGIRR

#%Enék
i {4 iR R
0 1. y[0] -> 1
01 1. y[0.1] > 1.00332
0.2 1.00667 v[0.2] > 1.01316
0.3  1.01982 y[0.3] -> 1.02914
0.4  1.03905 y[0.4] -> 1.05072
0.5  1.06375 y[0.5] > 1.07722
0.6  1.09321 y[0.6] -> 1.10793
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